MICRO FORMULAS ANSWER KEY
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TFC+TVC=TC

TFC/ Q= AFC

TVC/Q=AVC

AFC + AVC = ATC

TC/Q=ATC

ATC/AQ=MC

PxQ=TR

ATR/AQ=MR

Price or AR or MR < AVC : Shutdown

P = ATC : Fair-Return (0 Economic Profit or Normal Profit)
P = MC : Socially-Optimum Price (Allocative Efficiency)
P = Min ATC : Productive Efficiency

MUA / PA = MUB / PB : (Utility Maximization Rule)
MR = MC : Optimal Output Rule (Profit Maximization)
MRP = MRC : Hiring Rule

MP x P = MRP

TR —TC = Profit

A TR/ A Input = Marginal Revenue Product (MRP)

A TC/ A Input = Marginal Resource Cost (MRC)

ed <1 : Demand is inelastic

ed > 1 : Demand is elastic

ed =1 : Demand is unit elastic

A in Price = Movement Along the Curve



